
(x+ h)2 = x2 + 2xh+ h2

(x+ h)3 = x3 + 3x2h+ 3xh2 + h3



(x+ h)0 = 1

(x+ h)1 = x+ h

(x+ h)2 = x2 + 2xh+ h2

(x+ h)3 = x3 + 3x2h+ 3xh2 + h3



(x+ h)0 = 1

(x+ h)1 = x+ h

(x+ h)2 = x2 + 2xh+ h2

(x+ h)3 = x3 + 3x2h+ 3xh2 + h3

(x+ h)0 = 1

(x+ h)1 = 1x1h0 + 1x0h1

(x+ h)2 = 1x2h0 + 2x1h1 + 1x0h2

(x+ h)3 = 1x3h0 + 3x2h1 + 3x1h2 + 1x0h3



(x+ h)0 = 1

(x+ h)1 = 1x1h0 + 1x0h1

(x+ h)2 = 1x2h0 + 2x1h1 + 1x0h2

(x+ h)3 = 1x3h0 + 3x2h1 + 3x1h2 + 1x0h3

(x+ h)4 = 1x4h0 + 4x3h1 + 6x2h2 + 4x1h3 + 1x0h4



(x+ h)0 = 1

(x+ h)1 = 1x1h0 + 1x0h1

(x+ h)2 = 1x2h0 + 2x1h1 + 1x0h2

(x+ h)3 = 1x3h0 + 3x2h1 + 3x1h2 + 1x0h3

(x+ h)4 = 1x4h0 + 4x3h1 + 6x2h2 + 4x1h3 + 1x0h4

...

(x+h)n = 1xnh0+nxn−1h1+(?)xn−2h2+(?)xn−3h3+ · · ·+hn



(x+ h)n = 1xn + nxn−1h1 + bxn−2h2 + cxn−3h3 + · · ·+ hn



(x+ h)n = xn + nxn−1h1 + bxn−2h2 + cxn−3h3 + · · ·+ hn

(x+ h)n − xn = nxn−1h1 + bxn−2h2 + cxn−3h3 + · · ·+ hn



(x+ h)n − xn

h
=

nxn−1h1 + bxn−2h2 + cxn−3h3 + · · ·+ hn

h



(x+ h)n − xn

h
=

nxn−1h1 + bxn−2h2 + cxn−3h3 + · · ·+ hn

h

= nxn−1 + bxn−2h+ cxn−3h2 + · · ·hn−1



If f(x) = xn then f ′(x) is given by:

lim
h→0

(x+ h)n − xn

h



If f(x) = xn then f ′(x) is given by:

lim
h→0

(
nxn−1 + bxn−2h+ cxn−3h2 + · · ·hn−1)



If f(x) = xn then f ′(x) is given by:

f ′(x) = nxn−1


